e
Series EF1GH/3

™ collegebatch con

SET~2

. T 65/3/2

Roll No. L enefl T wre aﬁwgﬂﬁm%

| JE-98 W 379 g |

J Candidates must write the Q.P. Code on

E(iii)

{iv)

Hv)

: the title page of the answer-book.

E N NS NAEEEEESEEEEEESEESEEESSEAEEEEEEEEEEEEEEEEEEE -

TfoTa

MATHEMATICS
b8

FGIT S7id F2T & 35 53 9T U7 § gida g5 23 & /

Please check that this question paper contains 23 printed pages.

g9t gy B gifast grer 31 3R 130 1P 49 Us His bl Uﬁgﬂeﬁmg@aﬂé’?

I3 g3 g7 fard | :
Q.P. Code given on the right hand side of the question paper should be written on the t/tle

page of the answer-book by the candidate.
FUIT ST BT & 135 §H TT- G 7 38 T & /

Please check that this question paper contains 38 questions.

FUIT 79 HBT IR feraair Y= HIe A UFd, mg@aﬂ#neaaﬂmsﬁea'
ferd 1

Please write down the serial number of the question in the answer-book be_fore
attempting it.

8T T97-Us b Ggel & fero 15 Aeie b7 JHT a7 rm 8/ neaasrafamvr
gafg 4 10.15 &5 fasar sreanm [ 10.15 &5 & 10.30 as?aama?s—cfwneausraﬁ'
ggst 31T 37 37afer 3 FkieT 3 372 gi%iesT ar Hig 3a3 g7 ferdal | :
15 minute time has been allotted to read this question paper. The question paper will be§
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the§
question paper only and will not write any answer on the answer-book during this period. %


https://www.collegebatch.com/exams?utm_source=pdf

e

™ collegebatch con

QT 3597 :
HETTRGT 3511 %1 a8 Graer1 & /eq 3 371 G & GIe iy :

(i)
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39 J97-7 4 38 97 & | @4t 397 SfHard & |

I8 J97-97 qie GUs] 4 [@a9ifad 8 — &, @, T, a0 & /

GUE & 4 o7 &1 1 § 18 T Sglaehedld aoT ¥4 §&] 19 U9 20 374597

T a% SEIRT Uek-TUeh 31k & Yo7 & |

WU & H Fv7 G&I1 21 T 25 0% 3ifd Tg-IF% (VSA) THR & F1-§T 3H] & F97
g1/

QU T H Fo7 G&IT 26 & 31 @ TG-IHIT (SA) FHR & di-al4 37 & F97
g1/

TUE T § 77 G&I7 32 T 35 T 153709 (LA) ¥HR & Gia-gier 37#1 & J97 3 |
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g1/
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1.

f2x+2dx TR R

@ 2%24cC b)) 252log2+C
X+2 X
(c) 2 +C d 2- 2 +C
log 2 log 2

AT A T Sife 3 1 fIvH-wmiid egg 8 | A (A =x 8, 1 (2023)° T
2

(a) 2023 (b) s

2023
) (2023)2 @ 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(ii)

(iii)

(iv)

(v)

(vt)

(vii)

(viit)

(ix)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1.

I2X+2dx is equal to :

@) 2%24cC b) 252log2+C
X+2 X
(c) 2 +C d 2- 2 +C
log 2 log 2

Let A be a skew-symmetric matrix of order 3. If |A| = x, then (2023)" is

equal to :

1
(a) 2023 (b) m
©  (2023) @ 1

65/3/2 ~~~~ Page 3 P.T.O.
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(a) 2log2 (b) —2log2
© 3 @ =
4. s aiwm X d7y=0 w1 8 8
1 1
(a) —+—=C (b) logx—logy=C
X ¥y
(c) xy =C d x+y=C

3
5. 3T GHIR jx—ysmy+(%) cos y =.Jy hl I qAT ©TA T TUHHA

17 ?
(a) 3 b)) 2
(c) 6 (d)  uftwrfsa g

6. fogati A 9on B & fcamsh s (1, 2,— 1)@ (3, 4, 0) &, @1 |y BA *
fesh-pIETE &

2 1
~2,-2,-1 ) -=, -2 -=
(a) ,— 2, (b) 3 3

>

Wl |

2 2

(C) 2, 2, 1 (d) g, g,

7. 2 9N b WA RN IR 4 F b WIRTYAL | 2 90 b b
<l T HI0T 2 :

(a) () =

B~ oA

(c) d o0

. —> —> .
8. AABCH, AB=1 + ) +2k @ AC =3} - +4k ¥ 13 Bc=
%
Heg-fog D g, a1 Alc: AD SR 3 :

A A A /AN N
(a) 41 +6k b) 2i-2j +2k
A A A A AN
(c) 1—j+k d 2i +3k
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2
I V4 - x2 dx equals :
0

(a) 2log2 (b) —2log2
n

(c) E (d) T

The solution of the differential equation % + d7y =01is:

@ Lil_c B logx—logy=C
XYy
(c) xy =C d x+y=C

What is the product of the order and degree of the differential equation
2

Msiny+(g)scosy=\/§ ?
dx> dx

(a) 3 b)) 2
(¢) 6 (d) not defined

H
The direction cosines of vector BA, where coordinates of A and B are

(1, 2,—-1) and (3, 4, 0) respectively, are :

2 2 1
-2,-2,-1 b -2,-2,-Z2
(a) » = 4 (b) 3’ "3 T3
2 2 1
2,2,1 o 2,21
(c) » 2, (d) 3’3 3
— - o - -
a and b are two non-zero vectors such that the projection of a on b
— -
is 0. The angle between a and b is:
T
— b
(a) 2 (b) =
T
— d 0
(c) 1 (d)

—> A A A —> A A A
InAABC, AB=1 + j +2k and AC =3i — j +4k. IfD is mid-point of
%
BC, then vector AD is equal to :

/AN A A A A
(a) 41 +6k b) 2i —2j +2k
A N N AN N
© i-j+k d 2i +3k

~ N~~~ Page 5 P.T.O.
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afe fig P(a, b, 0), W@l X+l _y+2 743 @@, @ (a,b)

2 3 4
1 2
1,2 -, =
(a (1,2 (b) (2, 3)
1 1
(c) (5, Zj (d) (0, 0)
a‘awaﬁAamBé;%E,aﬁP(Kh%,P(E):%HWP(AOB)=i%,

zﬁp@w%:

3 8
(a) g (b) 5
1 1
(C) g (d) Z
o x2, x>0
k 1 98 M {58 folt ®e f(x)={" ° x =0 T ATHA g, 8 :
kx, x<0
(a) 1 (b) 2
(c)  his off arEdfees gw @d 0
_ cos x—sin x g )
?Zlﬁ y_cosx+sinx %’?ﬁ dx % )
_gec2| T _ 2(T _
(a) sec (4 x) (b) sec (4 xj
(¢) log |sec (g - x] (d —log|sec (g - xj

Wges U THET, z = 15x + 30y T JTehaHIeRLol 7 sFaiel & 3Taid

i

3x+y<12, x+2y<10, x=20, y=0

% fohc gamd &t & ?

(a) 1 (b) 2
() 3 d =

65/3/2 ~~~~ Page 6
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If the point P(a, b, 0) lies on the line >— 1_y+2_z+3

, then (a, b) is :

3
1 2
1,2 =, =
(@ (1,2 (b) (2, 3)
1 1
(c) (E’ ZJ (d (0,0

1

For any two events A and B, if P(A) = 5 P(B) = % and P(A N B) = i,

then P[%j equals :

3 8

hd b hd
(a) 3 (b) 9

1 1

- d el
(c) 3 (d) 1

. . x2, x>0 . .. .
The value of k for which function f(x)=1" > ~~ " is differentiable at
kx, x<0

x=0is:
(a) 1 (b)
(c) any real number (d)
If y = SOSX=SIX pon D e

COS X +sin X dx
(a) —sec? (% - x) (b) sec? (% - xj
(c) log | sec (% - xj (d —log|sec (g - XJ

The number of feasible solutions of the linear programming problem
given as

Maximize z = 15x + 30y subject to constraints :
3x+y<12, x+2y<10, x>0,y>0 is

(a) 1 (b) 2

(0 3 (d) infinite

~~~~ Page 7 P.T.O.
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14. U gk TUTHT THSI 1 ETd &7 < @ | g T 7

y
3
2
x'€ S 2 >X
3
01 1 2 D 4 &,L%)*
M ‘»\\0 4
9 4 9 w98 ety grvg & 2

(a) x+2y24, x+y<3,x20,y>0
(b)) x+2y<4, x+y<3,x20,y2>0
(c) X+2y>4, x+y=>3, x>0, y>0
d x+2y24, x+y>3, x<0, y<0

15. ZF%A={1 O}H%B:F 1}%,?ﬁB'A’W%:
0 0 0 0

1 1
(a)
_O O_
1o
(b)
_1 0_
1 1
(c) }
1 1
0 0
(d) ]
0 0

65/3/2 ~~~~ Page 8
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14. The feasible region of a linear programming problem is shown in the
figure below :

y
3
2
x'€ S 2 >X
3
01 1 2 D 4 Xy 2
M ‘»\\0 <

Which of the following are the possible constraints ?
(a) x+2y24, x+y<3,x20,y2>0
b)) x+2y<4, x+y<3,x20,y>0
(c) X+2y>4, x+y=>23, x>0, y>0

d x+2y24, x+y>3, x<0, y<0

10 11 N
15. If A= and B= , then B'A is equal to:
0 0 0 0

1 1
(a)
_O O_
1o
(b)
_1 0_
1 1
(c) }
1 1
0 0
(d) ]
0 0

65/3/2 ~~~~ Page 9 P.T.O.
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3 0 0
16. JICA.(adjA)=|0 3 0| %, a |A| + |adjA| T HH T ¢ :
0 0 3
(a) 12 by 9
(o0 3 @ 27

17. ATd BgHI 90 it & fovm-awfia smegg € | AB Tmfid g, afg .
(a) AB=0 (b) AB =—-—BA
(¢) AB = BA (d) BA=0

1. X[og} SR T F R A+ A = 312, e A{C"SX Si“} 3o

—sinxX cosX

(a) (b)

ola

T
3

(c) 0 (d)

NS

o7 &I 19 3K 20 UFHYT UG T SRa FeT F 3K IAF T B 1 3%
& 15 F97 15T 71T & [57H T &1 34T (A) o7 &R 1 T (R) GRT 371 17 77
g | 37 3991 & TE1 I A9 13T 7T Bl (a), (b), (c) 3K (d) § T FTH G |

(a)  ANRIA (A) 3R Tk (R) THI T&1 & 3R b (R), AR (A) 1 Fal
ST T 2 |

(b) AR (A) 3R ok (R) HT T&l 3, T T (R), AR (A) i Tah
ST TFT 1 3 |

(c) AR (A) TEl g AT T (R) TTeid 7 |
(d) e (A) TTeTd ® AT @%b (R) & 2 |
19. g7 (A): fagat (4, 7, 8) q91 (2, 3, 4) ¥ B AW areht @, g3
(-=1,-2,1) 99T (1, 2, 5) ¥ B T aTeAt W7 & FHIR & |
T (R) : %@Ti?:a_;+xtq F[?JT?=a_2)+ub_2)tl'{F‘3l'{Hﬂ'i_d'{%
zr%b_l).bz =0% |

65/3/2 ~ e~~~ Page 10




™ collegebatch con

3 0 O
16. IfA.(adjA)=|0 3 0], then the valueof |A| + |adj A| is equal to :
0O 0 3
(a) 12 (b) 9
(0 3 @ 27

17. A and B are skew-symmetric matrices of same order. AB is symmetric, if :
(a) AB=O (b) AB=-BA
(0 AB=BA (d BA=O

18. For what value of x e [0, E], isA+ A’ =3I, where
CoS X sin x
A= ?
[— sin X cos x]

(a)

[\

(b)

o a

T
3
T
(c) 0 (d) E
Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled Assertion (A) and the other
labelled Reason (R). Select the correct answer from the codes (a), (b), (c) and (d)
as given below.
(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(e) Assertion (A) is true and Reason (R) is false.
(d) Assertion (A) is false and Reason (R) is true.

19. Assertion (A) : A line through the points (4, 7, 8) and (2, 3, 4) is parallel

to a line through the points (- 1, — 2, 1) and (1, 2, 5).

) - - — - - —> .
Reason (R): Lines r = aj +Aby; and r = ag + uby are parallel if

- -
by . by =0.

65/3/2 ~~~~ Page 11 P.T.O.
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20. 3YHIT(A): [sin~!x + 2 cos~! x] T IRE [0, 7] & |
7% (R) : sin-lxﬁgr@rmwwqﬁm[—g,ﬂ%l

TUE ™
57 GUE 7 37fd TY-FTIT (VSA) IR & J97 &, 78 I9% & 2 7% & |

21. 9 %oa W iR KT : “b € R T HH-TU-HH Tk HH THT 3799 & (9
feru f(x)=§,b¢0,R_{0}ﬁﬁWErﬁtrH% ”

FaTse o a7 o T & A1 T | sifae dfvw |

22. (%) 3 sin_l(i) +2 cos_l(gl +cos™ ! (0) T 9 @ KT |

V2
YT
(@) flx) =sin"lx xe [—%%} F A TIT | 30 B f(x) H

giER oft fefgu |

1
23. (&) zr%y=x§%,aﬁx=1m%amaﬁﬁm

AT

(@) Zlﬁx:asin?c, y=a(cos2t+logtant)%, a % El'lﬁﬁﬁm |

- — —
24, AR T =31 -2 +6k T, A (T x3).(r xk)—12 % 7H 7 HT |

25. p 1 98 HH F@ e fees fow @ X_21=y?;4=zz3 ao

x—2 y-5 1-z

TR 99d & |
4p 2 7

65/3/2 ~~~~ Page 12
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20. Assertion (A) : Range of [sin~! x + 2 cos™1 x] is [0, n].

Reason (R):  Principal value branch of sin~!x has range [— g, g} .

SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. Consider the statement “There exists at least one value of b € R for

which f (X) = g, b # 0 is strictly increasing in R — {0}.”

State True or False. Justify.

22. (a) Evaluate: 3 sin_l(i) +2 cos_l(gJ +cos ! 0)

J2
OR
(b) Draw the graph of f(x) = sin"l x, x [— i, L] . Also, write range
V272
of f(x).
1 d
23. (a) Ify=x%,then find d—y atx = 1.
X

OR

(b) If x=asin 2t, y = a(cos 2t + log tan t), then find ? .
X

- A A A —> A o A
24, Ifr =31 —-2j +6k, find thevalueof (r xj).(r x k)-12.

x—1 y—-4 z-3
-2 3p 4

25. Find the value of p, so that lines and

x—2 y-5 1-z
4p 2

are perpendicular to each other.

65/3/2 ~~~~ Page 13 P.T.O.
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%El
i
Qs 1
57 @V § TY-F70F (SA) TR & F97 &, 1974 I & 3 3% & |

26. Td iU ;

X
I ° dx
Je2X _4eX _5
27. (%) T HINT:
J'c.osx dx
sin 3x
AYAT

(@) T I

J x2 log (x? + 1 dx

28. 91 IRge T IHE Sl 3TAE g 8 hifT ;
Ul x +y 210,
x + 3y <60,
x<y,
x>20,y=20
% I z = 3x + 9y I Jferhad T AT HIfTT |

29. (%) UGl % Th I Pl Th 919 IV T | A ST ITET T 38 FEATHAT b
e oI = X g Fwfua fram mon 8, @ X &1 wiiear sied 3
HifT |

HAAT

(@) q fgw @ @ wH fFa fagem @ TR w1 3 %
P (@) : P (W) = 1: 332, et guu fbehl = (M) e
2 | Tk THeRT A1g=aal AT SIAT @ q1 3BT 91l & | Ife 36 fadeh T
Tora a1, @t wifekar sTa hifse fok @18 rfima faeremr 2 |

65/3/2 ~~~~ Page 14
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SECTION C

This section comprises short answer (SA) type questions of 3 marks each.

26. Find:

X
I ° dx
VeZX _4e* _5

27. (a) Find:

J‘cosxdx

sin 3x

OR
(b) Find:

I x2 log (x? + 1 dx

28. Solve the following linear programming problem graphically :
Maximize z = 3x + 9y
subject to the constraints
x +y =10,
x + 3y <60,
X<y,
x2>20,y20.

29. (a) A pair of dice is thrown simultaneously. If X denotes the absolute
difference of numbers obtained on the pair of dice, then find the
probability distribution of X.

OR

(b) There are two coins. One of them is a biased coin such that
P (head) : P (tail) is 1 : 3 and the other coin is a fair coin. A coin is
selected at random and tossed once. If the coin showed head, then
find the probability that it is a biased coin.

65/3/2 ~~~~ Page 15 P.T.O.
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30. (h) Wwdi(xyz)=2y(l+xz)aﬂW€Eﬁﬁ3ﬁﬁQl
X

HAAT

y
(@) 3Tahal THIH xex—y+x?=0 % BA HINT |
X

31. HH A HINT :
n/2 Sjnloox
J dx
sin1%0 x 4+ cos190x
-n/2
ECLER]
39 U8 H FH-3T09 (LA) FHR & 97 8, 5780 9% & 5 37 & |
1 0 2
32. (%) d@ A=|0 2 1|3 dieusufrAad_6a2+7A+21=0.
2 0 3
Jroqat
(@) aﬁA:E 27}%,?1%1&‘131136@1%1126941314%9@1@@%01

™ 3x + 5y = 11, 2x — Ty = — 3l & T |

33. (%) b % 98 AH T sifg E@ @l X;1=y;b=Z;3 a«n

=4 _ Y-l g whresd Tard & | 5 @ T YEnsh a uhese

5 2

forg o I =i |

3HYAT
(@) TS FHIR Iqyst ABCD foaes 3fi¥ A4, 7, 8), B(2, 3, 4), C(- 1, -2, 1)
q&1 D(1, 2, 5) 7, 61 aeft qonstt & T 7q Ffe | o fag A @
CD W ST U A« o 9T o fHegreh ot [1a hifse |

34. Tug FINT f5 weH £: [0, ©) > [- 5, «) S Toh fix) = 4x2 + 4x — 5 g
TR B, Teheh! T 3TT=<a1ceh a1 7 |

65/3/2 ~ e~~~ Page 16
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30. (a) Find the general solution of the differential equation :
4 xy?)—25(14x?
dx

OR
(b)  Solve the following differential equation :

z d
XeX—y+x—y=0
dx

31. Evaluate:
n/2

SiﬂlOOX
100 100 9%
sin" " X +cos X
-n/2
SECTION D
This section comprises long answer (LA) type questions of 5 marks each.
1 0 2
32. (@ IfA=|0 2 1|,thenshow thatA®—6A%+7A+21=0.
2 0 3
OR
3 2 1
by If A= . - then find A" and use it to solve the following

system of equations :

3x + 5y =11, 2x - Ty =-3.

x—-1 y-b z-3
2 3 4

and

33. (a) Find the value of b so that the lines

-4 -1 . . . .
X = YT =z are intersecting lines. Also, find the point of
intersection of these given lines.

OR

(b) Find the equations of all the sides of the parallelogram ABCD
whose vertices are A(4, 7, 8), B(2, 3, 4), C(-1, -2, 1) and D(1, 2, 5).
Also, find the coordinates of the foot of the perpendicular from A to
CD.

34. Prove that a function f: [0, ) — [- 5, «) defined as f(x) = 4x2 + 4x — 5 is
both one-one and onto.

65/3/2 ~~~~ Page 17 P.T.O.
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%E
v
35. W%%%@Ty:mx(m>0),aﬁ x2+y2=4?'[9ﬂ x-aaamﬁisrwagﬁsr
T &9 1 A% g Sh1S @ | THTHCE o YN &, m 1 A 1A hIfT |

Qe s
34 GUS H 3 YT 37eFFT HTRT J97 &, 57780 Jedh & 4 37 8 |

TehTUT STETI - 1
36. SN & U T Tehd A o oI Teh g1 (3F) @ieTT B | I8 3 HMhR MR

T BT =1TET qAT $HHT TG 250 m3 =MLY | YfF 1 qeF T 5,000 U &
HieX 3 AT 39 Wi 1 T 39! Telg o IER dgal Sl & a9 [ &b &
foTu @8 @€ T 40,000 h2 8, S8l h &% 6 el T 770 7 | Ik & SRR

T [FRTE T T GHET T F T

I9YTH A1 oh IMUR W FHH T < IR ST

i) % B Wied F FA @F (C), x % el H Fd HINT | 1
Gy € s i | 1
dx
(i) (%) x 1 98 A ATG it eeh e = ¢ =Fa 7 | 2
Irera
(i) (@) = HIC o @ BeM C(x), S o x % qai # =k 8, a¢wH 2
EIT:E'T,GETX>O%| 2

65/3/2 ~~~~ Page 18
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35. The area of the region bounded by the line y = mx (m > 0), the curve

x2 + y2 = 4 and the x-axis in the first quadrant is g units. Using

integration, find the value of m.

SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. In order to set up a rain water harvesting system, a tank to collect rain
water is to be dug. The tank should have a square base and a capacity of
250 m3. The cost of land is ¥ 5,000 per square metre and cost of digging
increases with depth and for the whole tank, it is ¥ 40,000 h2, where h is

the depth of the tank in metres. x is the side of the square base of the
tank in metres.

ELEMENTS OF A TYPICAL RAIN WATER HARVESTING SYSTEM

CATCHMENT

CONDUIT

RECHARGE STORAGE
FACILITY FACILITY

Based on the above information, answer the following questions :

(i)  Find the total cost C of digging the tank in terms of x. 1
(i) Find E 1
dx
(iii) (a) Find the value of x for which cost C is minimum. 2
OR
(iii) (b) Check whether the cost function C(x) expressed in terms of x
is increasing or not, where x > 0. 2

65/3/2 ~~~ Page 19 P.T.O.
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ThIOT AT - 2

37. SARYITHR [sH, Th A famsti arell sgwais &, S T 31 TSR 14N
qAT IS FAATHN FeAehl § ol 8 | 360 24 foFTR qm 16 319 2 |

\_ |V

39 ST 1 FA™hR Batehl i foem & qeeprn =1 aon = aret weteh (S
i ! TRl AT 7) W forel @@ A i T8 | 7 AR AW STl BaAehi i
& o X 4 frefua ferem mn o e aroft X st wifderan siea el @ |

X: 1 2 3 4 5 6 7 8

PX): | p | 2p | 2p p 2p | p? | 2p% | Tp?+p

TG T o YR W HH 941 o I GINT

(i)  p %1 O Fd HINT | 1

(i) P(X>6) Fd HINT | 1

(i) (%) P(X=3m) Td HIVT T8 m Toh TThd TE&A1 2 | 2
HAAAT

(i) (@) wET E(X) T HifVT | 2
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Case Study - 2

37. An octagonal prism is a three-dimensional polyhedron bounded by two
octagonal bases and eight rectangular side faces. It has 24 edges and

16 vertices.

T
L

The prism is rolled along the rectangular faces and number on the bottom
face (touching the ground) is noted. Let X denote the number obtained on
the bottom face and the following table give the probability distribution of
X.

X: 1 2 3 4 5 6 7 8

PX):| p 2p | 2p p 2p | p2 | 2p% | Tp%+p

Based on the above information, answer the following questions :

(1)  Find the value of p. 1

(il) Find P(X > 6). 1

(111) (a) Find P(X = 3m), where m is a natural number. 2
OR

(iii) (b) Find the mean E(X). 2
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(i) 1 h(t) Tk 9dd o 7 ? ey ST | 2
(i) % UHY TG hIFGT T o shl SHdTS eehdd &l | 2
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Case Study -3

38. A volleyball player serves the ball which takes a parabolic path given by

the equation h(t)= —% t2 + % t +1, where h(t) is the height of ball at any

time t (in seconds), (t > 0).

W A—
£ 7 f Y )
Y !.\ 3 l

e 243m1

- 9m |

Based on the above information, answer the following questions :
(i)  Is h(t) a continuous function ? Justify. 2

(ii)) Find the time at which the height of the ball is maximum. 2
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